LABJNDu3-Normhelligkeit L*
L* YacmL*w  nc=100,

L* | aBanDuz=[IN[(A 1r+A2a)I(A 2nA0n)] (Yno/100<Y<=Y,0)
L* \(3.6)=218 L* ,(18)=496 L*y,(90)=772

log[L*/L*

bereich
1Y=18
1Yy =90

LABJINDu3
Normfarbwertdifferenz
Yoc=L*w - nc=100,

L* L aBanDua=[IN[(A 1n+A2nY))(A2nA0n] (Yn/100<Y<=Y,c)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aonpes=L.5, Aon 4=1,0, siehe CIE 230:2019

L*,=496 dY,=0,13 dY,/Y,=0,0072, " ~

bereich

YN=3.6  Yy=90

log (AY/Y) LABJINDuU3
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,

L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)
AYIY=Agr A1 Az Y Y

~

Anwendungs-
= -~ chereich

log(dY/Y)=-2,13 m=-0,16" = _
N
L*, =496 dY,=0,13 dY,/Y,=0,0072
1
1
'y,=18
Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJINDu3
Normfarbwertkontrast
Yoc=L*w - nc=100,

L* L aBanDuz=[IN[(A 1r+A2a)I(A 2nA0n)] (Yo 100<Y<=Y,0)
YIAY=Y/[A on(A 1n+A,Y)]

Anwendungs-|
bereich

YN=36 ' Yy=90

Anwendungs-]

Anwendungs-

Iy
{1

LABJINDu3 relative Normhelligkeit L*/L* ,
YocmL*w - nc=100,

L* | aBanDus=[IN[(A 10+ A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
L* \(3,6)=218 L* ,(18)=496,L* ,,(90)=772

log[L*/L* ;]=0, m,=0,33

Anwendungs-|
bereich

T3 Yg=90

log(A Y/AY W)
AYIAY,

LABJNDuS3 relative
Normfarbwertdifferenz
Yoe=L*w ~ ne=100,

L* L aanDus=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
AYIDY,=Ag A +AgYI/AY,

YN=3.6 . Yw=90

log [(AY/Y) I (AYIY)] LABJINDUS relative
Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.
L* Laganpua=[IN[(A 1n+A2nV)V(A 2rA0n)] (Yae/100<Y<=Yyo)
AYIYYAYIY = (At Ag )Y (YY)

logI(@YYY(@Y/Y) =0, m=-018 1~ ~

* =496 dY,=0,13 dY,/Y,=0,0074  fnwendungs,
1y,=18

=Clp log

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDu3 relativer
Normfarbwertkontrast
CrlCry=(YIAV)I(YIAY)y yoi % 2100,

L* L aBanDuz=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
(YVIAYY(YIAY), =Y IYIAY Y )TA onAqrAgr VI (Y/AY),

Anwendungs-|
1 bereich

1y,=18
Yw=90




